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1. (2) LIME 
= 12 + 9 + 13 + 5

= 39 + 1 = 40
2 = 20

LEMON 
= 12 + 5 + 13 + 15 + 14 = 59 +

1 = 60
2  = 30

2. (1) 

3. (2) 

4.

(3) 

I III 
5. (4) (4) 
6. (2) (2) 
7. (1) (i) (ii) 
8. (3) 

(i)

(ii)

9. (1) RIDDLE R, I, D, D, L, 
E 18, 9,
4, 4, 12 5. 

994435 
PUZZLE

738835 
10. (4) 
11. (3)

STPQR 
  Q, R 

12. (1) = x
  = x + 5

= 4 (x + 5)
4 (x + 5) = 8x
  x = 5 
  = x + 5 = 5 + 5 = 10

14. (1)
= U > Q > P > R > S

Q 
15. (1) A0 1 2 
17. (3) A0 841 × 1189 

A1 594 × 841 
A2 420 × 594 
A3 297 × 420 
A4 210 × 297 

20. (4) 
21. (1) `ADMINISTRATORS’ `E’

`MINISTER’ 
22. (1) 


23. (4) I II
26. (1) 

27. (1) 2 r  7700
14  = 550

550 7r 22 2
   = 87.5 

 22 22r 87.57  
= 24062.5 

28. (2) x 
= 3x
2x
3

2x
3  + x + 3x = 14
14 3x 314

  
  = 239

29. (4) = 22 × 24
= 528 

= (22 + 5) × (24 + 5)
= 27 × 29 = 783 

= 783 – 528 = 255

1 3 5
10 10 
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= 3/20 
  = 255 × 20

3
= 85 × 20 =1700

30. (1) 
22 49 4949 49 7 2 2    

2149 49 10.52   
= 514.5 

31. (1) 

2H 

32. (4) 
33. (2) 5

20 5 1100    
= 5 – 1 = 4 

2

1 100 214 %7 7
 

34. (4)  2 10026 358 53   = 600
  

3 23600 103.54 100   

35. (3) 575
23

= 25 /
925 2 5  

= 90 /
  
= 90 × 4 = 360 

36. (4) 2000 100
4 5
  = ` 10000

2410000 1 1100
         

5110000 625   = ` 816
37. (4) 

92 11054000 100 100   = ` 54648
  = 54648 – 54000
= ` 648

38. (1) 

8", 10", 12"
(i) 300
(ii) 13
(iii) 0.80 

39. (1) x
600x = (600 – 120) (x + 2)

  600x – 480 x = 960
960x 8120  

40. (3) ` x 
  = 1.5 x

5 7.5x1.5x 4 4  
7.5xx 1.5x 1837504   

  x = ` 42000

7.542000 4   = ` 78750
41. (1) = 15 ×

12 × 39 = 7020
42. (3) = 42, 56 63 

= 7 × 2 × 3 × 4 ×3 = 504
43. (4) 

2870 1 100
    

2270 1 25
    

27 2770 25 25   = 81.648 
44. (2) 

(i) (ii) 
45. (4) 

= ` x

125 12x 300100
  

300 100x 125 12
   = ` 20

46. (2) 2010
= 640

2010 2011 2012 2013 2014
35 45 25 50 40

  2014
= 640 + 35 + 45 + 25 + 50 + 40= 835

47. (3) 
2011

= 45
2013

= 50
  45 9 9 : 1050 10  

48. (4) 
2012

= 25
2014

= 40
  

25 100% 62.5%40  
49. (4) I 

= 12 
II 

= 60 
  I & II = 60

12
= 5 

III 
= 34 
  I & III = 2(12 + )
= 34
  = 17 – 12 = 5 

(4) I, II III 
50. (2) 



52. (2) 

54. (3) 
55. (4) (good

conductor)
(Insulator)

(semicomductor)

58. (4) 
(NaCl)

(Na+)
(Cl–)

59. (4) x2 + kx  + k = 0
b2 –

4ac > 0 
k2 – 4k > 0
k2 > 4k
k > 4   k > 4 k < 0

63. (1) 

ABC  ADE  
1DE BC2  1 9 4.5cm2  

[
]

64. (1) 1cos 3  

23 1 8sin 3 3
   

2 2= 3 1 8  
tan 8  

8 4sin tan 8 8.3 3      
2 2 4 8 2

3 3
 

65. (1) 

66. (1) 

parallel

67. (2) (Choke)

69. (4) (Alta Vista)
70. (2) 
71. (3) 

72. (2)  31, 53, 55, 56 ,
59, 61, 69n = 7

n 1
2
 7 1 42

 
= 56

73. (2) 

(i) mg 
(ii) 

 N 
'a' 

N = ma + mg
g 

N am 1g g
     

 am 1 g
    

am 1 g
   

74. (2) 

76. (4) 

78. (4) 21 m2

=
10 10 : 11 

80. (1) 4900 = 50 × 9.8 × 4
= mgh

4900 6900 10h 1050 9.8 50 98
    

82. (1) = mgh
1 = 1 × 9.8 × h

1 10h h1 9.8 98   
h 0.102 


